HEWLETT®

P33y g 25-15-36-24-30
@)
)0/ F. P-2F
PrF - 100211 = 78
F::: ;Zg/g:g_é: |
)
@
{4’:’350: b +12
. 1350
- =2 =3
/g 50 J
b= 7% +3 39
x 16 x 18
9 3% 124 8 702

www.hp.com/calculators




EWLETT®

b= CHp+Vp =V, + 336

’O c=t/3 — t,=666 , U= 330
Z) P: éﬁ/—g@fl: 942/?}2:6
3) ﬁr*’/;:@ /3 s BUz=v; +336 5 5= 33¢/25 168

Wy 495+ V3 = 504

€
001 ° 004600
1 0 04001
004700 004-G10
M@ 001 014
04400

04404100
1253944p 007110
0 04171

00167101 00
0044401000

13%F65240

www.hp.com/calculators




HEWLETT®
PACKARD

www.hp.com/calculators




X 4+ {ﬁﬁmq)x?,y_ X

www.hp.com/calculators

HEWLETT®
P& pACKARD




 HEWLETT®

E
/m JS=10+-JE&
#ﬂ@ f’iﬁp
on é"" /[0)0 rim |
T 1t 5

) (00+7)" = n* 4 f0p)" ¢
2005 = 100p* 4 - 100"
In = }02-—//00 — p=1l, m=122

WWR«/% 22, /iw/ 122 —3 120 km

v
) ’706’}91 = n*+ (400+%)2 Z/Y?.%Dm

= 2n"* + 2004 + 100" > 70|m

71210 > 200+ 2000 + 10800 = 12200
n= 10— BOQ#, 4 400+ 14400

424, é’g‘{f
177% . J22 14400

14887 14884

www.hp.com/calculators




4B HEWLETT®
PACKARD

s ® By
- e-11
&’F}D o @—F% — 30&.7"0{%%% Zﬂ@-/‘j b:3§3 fj/;/g
= J{ oz 34
%"“ er iy A =20
C= at+die = 2ave+dei= 3arleri |77 :zf}ig
— = o _ V4-42,
b=a+c = Za.“i"ale%.._ 3a+€+~ﬁ’{+a._*/7a,+2€+ L'}n:?ﬁ
CZ - a+€ 75 2;74_2

- m+4@ :—'6;"7‘* 24 = %4'54—2%: o+ 2i+Th
m = ?”Ng: cg/«kivwé ::ﬂah»ZL '

?i/:: %442:: d+7;
@/:zi+b |
Z;M;a,+2€+zl A= die-iz arle-i
c=da+2e+ ¢ } ﬁ:: L%g}~¢/2: a+et3i-a-2eri
d= a +e G B=bj-e

fe esd };’«*Lre*%% Sa+leri= Le+

%:: a,v’—é-%{: .
= a+he -t

v = ate+lL
1

é/ffLMZf’f +2.0 =0
«é?::— Q?Q%ZLvLZ}g ‘

> Za-e+i, =0 - e=2a+1

Mz g+re+2i+ R
o éﬁ—fﬂ:/%/fg.; Za+¥5e-2i=averli
+121 -3¢

at7e-16i=0 454 — A, =0

www.hp.com/calculators

!



10— 8/1 5 8/2 5 2/1/2 , 6/4/3
5 5/2/3 5 b /1/2/43-s BIWIBVY 3 /1/2/4

%W%L%
3/3/3/17 5 2/2/2/4 s 1/1/1/3/4
s Z/3/5

2)2/2/2)27 > 1/1/1/1/1)5 —s b /¢

— 3/5/2

3/%/4 > 2/2/3/3 > 1/2/2) %4 s 1/1)3/5
s 2/4/4 5 1/3/3/3

/Z/; 2;3;4 /JC%O&M{/W?

'5/3,3,2/4/7

1/2/275 — 1/1/4/)4 — 3/3/y 5 7/2/3/3
7 41 2 _ 3

M?,4/7/2/z/4¢4/4/3/5-9 2/4/4 3nel

- 4/3/3/3 - 2_/2/2//7 o 4/4////3/4 oK
wwwhp om/calculators ——23 2/9/5 - 4/2'/3/,':!




HEWLETT®
PACKARD

X%+ (xtp1) ="
LZQZXZ+7 W)A%flfa,uz, L= Z’z‘i+’f

L, P-F
— 32 ?o:/QOSJ
oxt=(L+1)(L~1) \; @1 3) (33) (577
= 2(m+1) 2n = bu(n+1) | Zgigi
M%Xpa//z X=2x /P:ZX+L+1
2 7z _ 44,(41«-:/})/ —~ 7 %408+ 578
Lxt=ninty) S PV,
=1
net med . 743 ECLI
. hog 577
y m:@’, =6 _5 12 o172 | «4pg x 577
> heygy 332323
F LY 29 x25 32929
5 153 2
21 171 19 x50 . _
€ 130 ; — M=3, 2235
zg 210 —s 7)‘(0&5 94
) L
55 £0,) Bp1as,
6
e (2,3) 4501
9] (42/7?) F0= LT+ 3312

105 (;0} 33) 33 = 3%1Y +4 12

(3)=(: ) (%)

www.hp.com/calculators




HEWLETT®

6

172 3 4 5 & #8

34 1 2 F 8 04

Ly 3 21 8 7 6 5

c . 2 g8 1 2 34

[ 5 ¥ F 7 1 Zi 3

g 7 6 9 4 3 L1

3 010 U |2

y 000 |00 | 010

yfj 001 | 000 1 OLL e 4 sy T B

7 olo |01l | 000 011 o001
o1 010 JOOL
100 10] 110 M

1
101100 | i 101
1o nt | 100 5

Y
g0
Ly e 101 9 o194
fr- f
((26~1) xog (9~1) +1 145

www.hp.com/calculators




